Annexure |
L. Name of Company : PARTAP INDUSTRIES LIMITED
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4. Declaration: The Listed entity is required to submit the following declaration to the extent of submission of information:-

Sr. No., Particulars

Yes*

1

2

3 ngﬁﬁggﬁrﬂ&qg%!rﬁgnﬁ reciepts are issued?
4 e i i -in?

5

D o R RN ES




: e
L
oulstanding full conversion encimberd (] _rl___.u Fl
of convertilile
S sevurities fas 5 n.llln-iqllg.__a
% of diluted
share capital |
D={Vine )
=2 % of [ Asaw =
e of kotal toial
sharey held
Beld i) "
i (I 2114475
i MNA .
—1 = I I m_e_ﬁﬂ_







UK ;“.' NREN

B[]







_H.F [uaar |nstnlystiony
@ f[lndividuals

= Individuak Share-hoides

holding Mammar Share [ apaa)

G to By 3 lakh = —
TS . . T 218 TS - TS 223 nn

A Holding upm 1% shares . 5
mmmh.ﬂ._igl.g 1% shares

bt upes Bs 1 lakh

L inchividaal tharehaiders 01808 [ 397 | ioven0 = Thiana,

& |NBFCS Eegimered weish BB

¥) | Eemployes Trusi

i) JCreerseas Depotionies
(Holding Eﬁu.ut-.-l.:-ﬁ

Figumm)

Any Other

B 1 = 107875

Sub-Total (B)(3)

L9 |
_l Total Public Shareholding

§ ]
3
|
KT

BB (B2 = 53




Table I'V'- statement showing sharebalding patters o he non promoter - non public shareholdar
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